Shamrock
with’ sign, 16 full cells, ‘of” sign, ‘was’ sign

{

’

sign, 20 full cells, ‘of” sign

was’ sign, ‘with’ sign, 4 full cells, ‘of” sign, ‘his’ sign
sign, 22 full cells, ‘of” sign

‘with’

with'

, 12 full cells
Line 5: 11 spaces, 12 full cells
Line 12: 5 spaces, 24 full cells

Line 15: 7 spaces, d, ‘er’ sign, 3 full cells, q, f, 2 spaces, 2 full cells, 2 spaces, d, ‘er’ sign,
3 full cells, q,

Line 14: 6 spaces, ‘er’ sign, 7 full cells, f, space, 2 full cells, space, d, 7 full cells, q

Line 13: 5 spaces, ‘er’ sign, 9 full cells, f, 2 full cells, d, 9 full cells, q

Line 3: 11 spaces, 'with' sign, 10 full cells, ‘of’ sign
Line 19: 19 spaces, ‘er’ sign, full cell, ‘of’ sign, ‘his’ sign

Line 2: 12 spaces, ‘with’ sign, 8 full cells, ‘of’ sign
Line 16: 16 spaces, ‘er’ sign, full cell, ‘his’ sign
Line 17: 17 spaces, ‘er’ sign, full cell, ‘of’ sign
Line 18: 18 spaces, ‘er' sign, full cell, ‘of’ sign

Line 6: 11 spaces, ‘er’ sign, 10 full cells, q
Line 7: 12 spaces, ‘er’ sign, 8 full cells, g
Line 8: 13 spaces, y, 6 full cells, ‘and’ sign

Line 9: 7 spaces, ‘was’ sign

Line 1: 13 spaces, *
Line 4: 11 spaces
Line 10: 6 spaces,
Line 11: 5 spaces,
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By: Cynthia Dils, TVI




